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FREMEES

" 38 2950 (r/min) #1475 (r/min)
A W | L | HEAL
ErRitess s WE | BIE | R | R’k | TR | WE | B | R | R | TR
Lo /R )| )| &E | y=L | W/h) | ()| (% | RE| y=l
N (m) | (W) m | (W)
A 115 48.0 415 1.70 55 55 12.0 375 0.60 1.1
B 10.5 44.0 43.0 1.50 4.0 5.0 11.0 36.5 0.50 1.1
40-200 C 9.0 36.0 40.0 1.30 3.0 45 9.0 36.0 0.50 1.1
D 7.5 28.0 38.0 1.10 2.2 4.0 6.5 34.0 0.50 1.1
E 55 16.0 35.0 1.30 1.5 3.0 4.0 31.0 0.50 1.1
A 10.5 80.0 28.2 0.90 11.0 7.5 18.0 16.5 0.50 2.2
B 9.7 68.0 29.0 0.85 7.5 7.0 16.0 23.5 0.50 2.2
20250 C 9.0 50.0 26.5 0.70 55 6.5 115 20.0 0.48 2.2
D 8.5 30.0 255 0.75 4.0 6.0 6.5 16.5 0.46 1.1
A 185 130.0 30.0 0.70 30.0 9.5 32.0 26.5 0.48 55
B 175 115.0 29.5 0.65 30.0 8.7 29.0 25.5 0.42 4.0
C 16.0 100.0 27.0 0.55 22.0 7.5 25.0 24.3 0.37 3.0
20315 D 14.0 90.0 26.5 0.45 18.5 7.0 22.0 23.0 0.35 3.0
E 13.0 80.0 25.5 0.50 18.5 6.8 20.0 22.7 0.34 3.0
F 115 67.0 23.0 0.50 15.0 6.0 16.0 19.5 0.30 2.2
A 24.5 31.0 60.0 1.40 55 12.2 7.0 52.0 0.90 1.1
B 22.0 27.0 56.0 1.20 55 11.5 6.0 49.0 0.70 1.1
80-160 C 18.0 20.0 52.0 1.00 4.0 9.0 45 39.0 0.50 1.1
D 16.0 14.0 48.0 0.90 2.2 7.2 4.2 35.0 0.50 1.1
A 26.5 48.0 58.5 1.50 11.0 13.0 115 54.0 0.82 1.5
B 23.0 42.0 54.0 1.40 7.5 115 9.5 495 0.75 1.1
80-200 C 20.0 34.0 50.0 1.30 55 10.5 8.0 475 0.80 1.1
D 16.0 26.0 44.0 1.10 4.0 9.0 6.0 440 0.80 1.1
A 31.0 75.0 52.5 2.20 18.5 15.0 19.0 495 0.60 3.0
B 29.0 70.0 52.0 2.10 15.0 13.0 17.0 475 0.50 2.2
80-250 C 24.0 57.0 51.0 1.80 11.0 12.0 13.0 46.5 0.60 1.5
D 21.0 43.0 48.0 1.70 7.5 10.5 10.0 440 0.50 1.1
A 38.0 110.0 445 1.10 37.0 19.0 26.0 40.5 0.50 55
B 36.0 102.0 43.5 1.00 30.0 18.0 24.0 39.0 0.50 55
80-315 C 30.0 76.0 41.5 0.90 22.0 15.5 17.0 36.0 0.50 4.0
D 27.0 56.0 40.5 0.80 15.0 13.0 12.0 345 0.50 3.0
A 42.0 155.0 41.5 3.20 55.0 21.0 39.0 41.0 0.85 7.5
B 40.0 126.0 39.5 3.10 45.0 20.0 30.0 40.0 0.90 55
80-400 C 38.0 110.0 41.0 3.00 37.0 19.0 27.0 39.0 1.00 55
D 37.0 80.0 36.5 2.90 30.0 18.0 20.0 34.0 1.10 4.0
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PR BES M -

it 38 2950 (r/min) 3 1475 (r/min)
S s _ W | L _ W | AL
HAS i WE | IR | AR | R | iR | RE | IAE | AR | R R
o /h) | | | RKE | y=1| W/h | w0 | % | =] v=1
(m) | (kW) (m) (kW)
A 48.0 32.0 71.0 2.20 11.0 24.0 7.0 68.0 1.30 1.5
B 43.0 27.0 71.0 2.50 7.5 21.0 6.5 63.0 1.20 1.5
80-160( 1)
C 36.0 20.0 68.5 2.00 55 17.0 5.0 58.0 1.05 1.1
D 29.0 15.0 65.0 1.00 3.0 15.0 4.0 55.0 1.20 1.1
A 60.0 48.0 72.0 2.60 18.5 31.0 13.0 68.0 0.80 3.0
B 54.0 42.0 68.0 2.40 15.0 28.5 115 66.0 0.90 2.2
80-200( 1)
C 47.0 33.0 66.0 2.00 11.0 25.0 9.0 63.0 0.60 1.5
D 41.0 25.0 62.0 1.70 75 22.0 7.0 62.0 0.70 1.1
A 70.0 82.0 65.0 2.40 30.0 35.0 20.0 62.5 6.50 4.0
B 66.0 75.0 64.0 2.20 30.0 33.0 18.5 61.8 0.60 4.0
80-250( 1)
C 60.0 60.0 63.0 1.70 22.0 30.0 15.0 61.0 0.55 3.0
D 50.0 45.0 60.0 1.50 15.0 26.0 11.0 59.0 0.50 2.2
A 85.0 110.0 55.0 2.00 55.0 40.0 26.0 52.5 0.50 11.0
B 77.0 95.0 545 1.80 45.0 37.0 21.0 52.5 0.50 7.5
100-315
C 68.0 73.0 53.0 1.50 30.0 32.0 16.0 51.0 0.50 55
D 55.0 52.0 50.0 1.30 22.0 28.0 12.0 49.0 0.50 3.0
A 82.0 194.0 475 2.00 110.0 41.0 48.0 445 0.50 15.0
100-400 B 78.0 175.0 46.0 1.80 90.0 39.0 43.0 440 0.55 15.0
C 70.0 140.0 46.0 1.60 75.0 35.0 34.0 435 0.60 11.0
D 60.0 102.0 43.0 1.50 45.0 30.0 25.0 415 0.58 75
A 135.0 250.0 52.0 5.50 200.0 67.0 61.0 48.5 1.50 30.0
B 125.0 217.0 51.8 450 185.0 62.0 53.0 48.5 1.20 30.0
100-450 C 114.0 185.0 51.5 3.80 132.0 57.0 46.0 48.0 1.00 22.0
D 104.0 154.0 51.0 3.50 110.0 51.0 38.0 475 0.90 15.0
E 95.0 126.0 50.0 3.00 75.0 475 31.0 46.8 0.80 11.0
A 94.0 32.0 78.0 3.00 15.0 47.0 8.0 76.0 0.80 2.2
B 85.0 28.0 775 3.00 11.0 42.0 7.0 75.0 0.85 2.2
100-160
C 76.0 23.0 76.0 2.50 11.0 38.0 55 70.0 0.60 1.5
D 66.0 17.0 71.0 2.80 55 34.0 4.0 68.0 0.50 1.1
A 100.0 52.0 76.0 3.50 30.0 50.0 12.0 73.0 0.80 4.0
B 95.0 45.0 745 4.00 22.0 45.0 10.0 72.0 1.00 3.0
100-200
C 81.0 35.0 715 3.50 15.0 40.0 8.0 71.0 0.90 2.2
D 67.0 27.0 66.0 3.00 11.0 34.0 6.0 67.5 0.95 1.5
A 124.0 79.0 73.5 4.00 45.0 61.0 18.0 70.0 1.30 7.5
B 117.0 73.0 73.0 3.00 45.0 57.0 17.0 68.5 1.10 7.5
100-250
C 102.0 56.0 71.0 3.50 30.0 50.0 12.0 65.0 1.00 4.0
D 85.0 42.0 65.0 2.50 22.0 440 9.0 62.0 63.00 3.0
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PR BES M -

it B8 2950 (r/min) B9 1475 (r/min)
ESRE=" % Nl =R ] %:ﬁ% EEHL NrPo=R (o 3 %:ﬁ% EEHL
RES | g | MR | SR | AR | V| T | ORE | R | MR || T
=) m/h) | | | KE | v=1| /h) | )| B | &ZE | v=1
(m) | (kW) (m) | (kW)
A 141.0 127.0 67.0 4.10 90.0 70.0 33.0 66.5 1.00 15.0
100-315(1) B 135.0 121.0 68.0 4.00 75.0 66.0 30.0 65.0 1.20 11.0
C 115.0 97.0 66.0 3.00 55.0 56.0 24.0 63.5 0.90 11.0
D 90.0 74.0 62.0 2.50 37.0 45.0 18.0 57.0 0.70 55
A 171.0 184.0 61.0 3.60 160.0 85.0 43.0 57.2 0.90 22.0
100-400( 1) B 159.0 167.0 60.5 4.50 160.0 80.0 39.0 56.5 0.80 185
C 135.0 127.0 57.0 3.00 90.0 65.0 30.0 53.5 0.80 15.0
D 116.0 92.0 50.0 2.80 75.0 53.0 22.0 475 0.50 11.0
A 200.0 235.0 59.0 5.50 250.0 103.0 59.0 57.0 1.40 37.0
B 185.0 210.0 58.5 5.00 220.0 98.0 55.0 56.8 1.40 30.0
100-450( 1) C 172.0 186.0 58.0 5.00 200.0 87.0 45.0 56.5 1.15 30.0
D 155.0 157.0 56.5 4.00 132.0 70.0 30.0 54.0 0.90 15.0
E 141.0 127.0 55.0 3.50 110.0
A 162.0 27.0 80.0 4.10 22.0 81.0 6.2 77.0 1.40 3.0
100-260( 1) B 150.0 22.0 79.0 4.00 15.0 73.0 5.0 75.0 1.00 2.2
C 130.0 15.0 77.0 3.50 11.0 63.0 35 74.0 1.00 15
D 110.0 11.0 71.0 2.80 7.5 55.0 2.6 70.0 0.80 1.1
A 190.0 50.0 80.0 3.10 45.0 93.0 125 79.0 1.00 55
100-200( 1) B 177.0 44.0 79.0 3.00 37.0 88.0 105 75.0 1.00 55
C 153.0 35.0 77.0 3.00 30.0 78.0 8.5 74.0 0.90 4.0
D 133.0 26.0 73.0 2.10 18.5 68.0 6.0 70.0 0.60 3.0
A 228.0 77.0 80.0 4.00 75.0 113.0 19.0 79.0 0.90 11.0
B 216.0 71.0 79.0 4.20 75.0 108.0 17.0 78.5 0.85 11.0
150-250 C 188.0 56.0 79.0 3.50 45.0 98.0 12.0 78.0 1.00 75
D 168.0 42.0 76.5 3.80 37.0 88.0 9.0 76.0 1.00 5.5
A 250.0 123.0 77.0 5.00 132.0 125.0 28.0 75.0 1.50 18.5
B 240.0 117.0 76.0 5.00 132.0 119.0 26.0 74.0 1.40 185
150-315 C 203.0 95.0 74.0 4.00 90.0 104.0 22.0 70.0 1.00 15.0
D 170.0 69.0 69.0 3.20 75.0 86.0 16.0 67.0 0.90 11.0
A 296.0 190.0 72.0 5.30 250.0 147.0 45.0 70.0 1.40 37.0
B 286.0 176.0 70.0 6.00 220.0 142.0 41.0 69.5 1.50 30.0
150-400 C 256.0 141.0 68.0 5.50 185.0 127.0 33.0 67.0 1.50 22.0
D 220.0 101.0 64.0 4.50 110.0 112.0 23.0 64.0 1.30 15.0
A 335.0 250.0 68.5 5.50 400.0 168.0 62.0 66.5 1.40 55.0
150.450 B 310.0 220.0 68.0 5.00 315.0 155.0 55.0 66.0 1.30 45.0
C 290.0 195.0 66.0 5.00 280.0 145.0 48.0 64.0 1.20 37.0
D 265.0 162.0 65.0 4.50 220.0 132.0 40.0 63.0 1.00 30.0
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PR BES M -

it 38 2950 (r/min) 3 1475 (r/min)
S s _ W | L _ W | AL
HAS i WE | IR | AR | R | iR | RE | IAE | AR | R R
o /h) | | | RKE | y=1| W/h | w0 | % | =] v=1
(m) | (kW) (m) (kW)
A 180.0 72.0 69.0 1.50 75.0
B 167.0 65.0 68.0 2.00 55.0
150-500
C 142.0 51.0 65.0 1.70 37.0
D 120.0 40.0 60.0 1.00 30.0
A 318.0 44.0 83.5 4.50 55.0 158.0 11.0 82.0 1.60 75
B 298.0 39.0 82.0 7.00 45.0 150.0 95 80.5 1.50 75
150-200
C 263.0 30.0 78.0 5.50 37.0 138.0 7.0 76.0 1.50 55
D 218.0 23.0 71.0 4.50 22.0 120.0 5.0 72.5 1.40 3.0
A 386.0 72.0 82.0 450 110.0 193.0 17.0 80.0 1.20 15.0
150-250( 1) B 351.0 60.0 80.0 5.00 90.0 177.0 14.0 77.0 1.20 15.0
C 321.0 44,0 775 5.50 75.0 157.0 10.0 75.0 1.10 11.0
A 440.0 122.0 82.0 7.50 220.0 218.0 30.5 80.0 1.60 30.0
B 428.0 117.0 80.0 5.50 200.0 208.0 27.0 75.0 1.50 30.0
150-315( 1)
C 370.0 92.0 78.0 6.00 160.0 178.0 22.0 74.0 1.50 22.0
D 308.0 66.0 74.0 5.00 90.0 153.0 15.0 72.5 1.30 15.0
A 518.0 201.0 78.5 6.00 450.0 258.0 48.0 76.5 1.60 55.0
B 496.0 186.0 77.0 6.20 400.0 248.0 45.0 76.0 1.80 55.0
150-400( 1)
C 451.0 148.0 76.0 6.00 280.0 223.0 35.0 75.5 1.60 37.0
D 398.0 110.0 77.0 6.00 200.0 198.0 26.0 73.0 1.50 30.0
A 524.0 235.0 745 10.00 500.0 274.0 60.0 72.6 2.60 75.0
B 490.0 212.0 74.0 8.00 450.0 258.0 55.0 72.0 2.50 75.0
150-450( 1) C 460.0 190.0 72.0 7.50 400.0 231.0 46.0 70.0 2.30 55.0
D 420.0 160.0 70.0 7.00 315.0 210.0 40.0 69.0 2.00 37.0
E 375.0 130.0 70.0 7.00 250.0 190.0 31.0 68.0 1.80 30.0
A 300.0 75.0 73.5 2.00 110.0
B 283.0 70.0 72.0 2.00 90.0
150-500( 1 )
C 233.0 57.0 70.0 1.60 75.0
D 208.0 42.0 68.0 1.40 45.0
A 335.0 101.0 74.0 2.50 160.0
B 315.0 94.0 73.0 2.70 132.0
150-560
C 260.0 77.0 71.0 2.80 90.0
D 212.0 57.0 65.0 2.20 75.0
A 360.0 115.0 63.0 2.40 220.0
B 338.0 105.5 62.0 2.00 200.0
150-630
C 274.0 82.0 57.0 2.20 132.0
D 220.0 60.0 53.0 2.00 75.0
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PR BES M -

it 38 2950 (r/min) 3 1475 (r/min)
B O | HEAL | HAML
Y 1= Ml 327 N= 327 Nyl =R b 327 N— 327
HAE i R | R AR | R | DR | RE | IR | B | R | DiE
o m/h) | m) | | &&E | y=1| @/h | (m) | % | £E| v=1
(m) | (kW) (m) (kW)
A 610.0 72.0 84.5 8.10 160.0 305.0 17.4 83.0 2.30 22.0
200-250 B 580.0 65.0 84.0 8.00 160.0 290.0 16.0 82.5 2.00 18.5
C 520.0 47.0 81.5 7.10 110.0 260.0 12.0 815 1.60 15.0
D 470.0 32.0 78.0 6.20 75.0 240.0 8.0 79.0 1.50 11.0
A 710.0 122.0 85.5 8.20 315.0 350.0 30.0 845 2.10 45.0
200.315 B 680.0 114.0 80.0 8.00 315.0 340.0 29.0 84.0 2.50 37.0
C 600.0 87.0 82.0 7.00 220.0 300.0 22.0 80.0 2.20 30.0
D 480.0 65.0 775 6.00 132.0 250.0 15.0 77.0 1.90 18.5
A 850.0 203.0 82.0 13.00 630.0 426.0 50.0 81.0 3.40 90.0
200.400 B 830.0 150.0 79.0 14.00 500.0 410.0 47.0 79.0 4.00 75.0
C 750.0 145.0 78.5 12.00 450.0 370.0 78.5 76.5 3.00 55.0
D 570.0 106.0 74.0 7.00 280.0 332.0 27.0 74.5 2.00 45.0
A 840.0 255.0 80.0 11.00 800.0 420.0 65.0 78.5 2.60 132.0
B 800.0 230.0 79.0 10.00 710.0 400.0 60.0 78.0 2.50 110.0
200-450 C 740.0 205.0 78.0 9.50 630.0 370.0 53.0 76.0 2.50 90.0
D 660.0 180.0 76.0 8.50 500.0 330.0 45.0 75.0 2.30 75.0
E 580.0 150.0 75.0 7.80 400.0 290.0 375 74.0 2.20 55.0
A 495.0 80.0 80.0 3.00 185.0
B 470.0 75.0 79.0 2.70 160.0
200-500
C 400.0 60.0 77.0 2.00 110.0
D 330.0 45.0 74.0 2.20 75.0
A 540.0 101.0 79.0 3.00 250.0
B 510.0 95.0 78.0 2.50 220.0
200-560
C 440.0 78.0 77.0 2.00 160.0
D 350.0 59.0 71.0 2.00 110.0
A 580.0 129.0 77.0 3.50 315.0
B 550.0 122.0 76.0 3.00 280.0
200-630
C 468.0 97.0 725 2.50 220.0
D 372.0 72.0 64.0 2.40 132.0
A 545.0 27.0 86.5 3.00 55.0
B 528.0 25.0 85.0 3.00 55.0
250-315
C 480.0 19.0 82.0 3.20 37.0
D 434.0 13.0 75.0 2.50 30.0
A 660.0 49.0 77.5 4.00 132.0
B 630.0 46.0 75.5 3.00 110.0
250-400
C 565.0 36.0 72.5 3.00 75.0
D 500.0 24.0 72.0 3.00 55.0
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PR BES M -

it 38 2950 (r/min) 3 1475 (r/min)
B O | HEAL | HAML
Y 1= Ml 327 N= 327 Nyl =R b 327 N— 327
HAE .| WE | R | BCR | R | TR | ORE | B | ACR | R | ThR
R . ,
o m/h) | m) | | &&E | y=1| @/h | (m) | % | £E| v=1
(m) | (kW) (m) (kW)
A 800.0 82.0 825 5.00 250.0
250-500 B 770.0 76.0 82.0 5.50 220.0
C 700.0 58.0 80.0 5.00 160.0
D 630.0 42.0 75.0 5.00 110.0
A 860.0 106.0 82.0 4.00 355.0
250-560 B 830.0 98.0 815 4.00 315.0
C 760.0 78.0 80.0 3.50 250.0
D 665.0 57.0 75.0 3.00 160.0
A 855.0 128.0 80.5 5.00 450.0
250-630 B 816.0 119.0 80.0 4.00 400.0
C 720.0 96.0 78.5 3.10 280.0
D 625.0 71.0 75.5 2.00 200.0
A 1050.0 48.0 87.0 5.20 185.0
300-400 B 1010.0 45.0 86.0 5.10 160.0
C 900.0 34.0 83.0 450 132.0
D 780.0 26.0 77.5 4.80 90.0
A 1240.0 78.0 87.0 5.00 355.0
B 1170.0 75.0 86.5 450 315.0
300-500
C 1015.0 57.0 85.0 4.50 220.0
D 870.0 42.0 80.0 4.00 160.0
A 1340.0 104.0 86.0 5.00 500.0
B 1280.0 97.0 85.5 5.50 450.0
300-560
C 1140.0 77.0 835 5.00 355.0
D 950.0 56.0 80.0 4.00 220.0
A 1450.0 132.0 85.0 5.50 710.0
B 1375.0 125.0 84.0 6.00 630.0
300-630
C 1170.0 100.0 825 5.00 450.0
D 950.0 75.0 78.0 3.80 280.0
A 1870.0 74.0 88.0 6.50 500.0
B 1800.0 70.0 87.0 6.50 450.0
400-500
C 1520.0 52.0 84.0 6.00 315.0
D 1300.0 38.0 80.0 6.00 220.0
A 2040.0 98.0 88.0 7.50 710.0
B 1950.0 91.0 87.0 7.00 630.0
400-560
C 1760.0 74.0 85.0 6.00 500.0
D 1500.0 54.0 82.0 5.50 315.0
A 2390.0 125.0 88.0 8.20 1120.0
B 2280.0 117.0 87.0 8.00 900.0
400-630
C 1960.0 95.0 85.0 7.50 710.0
D 1610.0 70.0 80.0 6.00 450.0
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